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It is similar to smoke and an outhouse — AT X027 N2 NIWIPD

OVERVIEW!

In response to the challenge that the rule of 1°p1a% 1P X applies only to X0
2"17°23, but not to 1°P1 in general, 701 27 stated that since he was from the ny77 "17X,
therefore this 11 1s considered for him as a 2"7°21 XRY0IP.

mooIN anticipates a difficulty:
= 399X 11PN DAY DIVNT YIYN IXINN NPNP IPION 9INPT NN

And this which 70 217 said, ‘remove the crowing ravens from here; this

indicates that it was on account of the ravens that he said to remove them, but not
because of the blood of the D°11R —

mooin replies:
= 4PNYT NIINT 2) DY 9N D20 7N 0229 1910 KD ON INT

701 217 would certainly be able to bear the blood from the 2°1mX (alone), if there

were no 2°27Yy, even though that 101° 27 was an 931U R; however the combination of
the two (2°11X and 0°271v) made it unbearable —

NN offers an alternate solution:
$9%92 DINIPNI DN DTN DIVIIN 1PN DI29IYN ) N

Or you may also say; the 2°27% would eat the blood (from the bloodletting) and

would fly on the date palms and would wipe their beaks on the dates and leave
them covered with blood which was unbearable to 7101 27 who was an 0%IV0°X.

SUMMARY
A0y 27, being an 0°1V0°X could not bear the combination of bloodletting and the
monetary loss of the dates, or he could not bear the dates being drenched in blood.

!'See ‘Overview to the previous '01n on this Ty,
2 The understanding of the X723 is that q01° 21 was concerned for the monetary loss which the ravens cost him on
account that they destroyed his dates (by eating them). Therefore he said, ‘remove the ravens’. He, however, did not
seem that concerned about the bloodletting from the o°1¥, for then he would have said, remove the 2°1X from here
(because the blood disturbs me). The concern for the ravens eating the dates is a monetary one and has no
connection to 0°100X (it is only the blood from the 2°1X that makes it uncomfortable for an ©°10°%). How did 29
qo1 justify removing the ravens (which represents a monetary loss) to his status as an 0°J00X.
3 He actually meant to remove the 23X (for how else can they remove the ravens); nevertheless, since he stated
TP 170K, this indicates that his main concern was the monetary loss.
4 Therefore, he said MPMp 70X because they were the tipping point that made the bloodletting of the o
unbearable.
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THINKING IT OVER

1. It appears from M2o1N (according to both answers) that 701° 27 was able to bear
the sight of the bloodletting, but was not able to bear the bloodied dates. How can
we explain that?

2. Why can’t we say that when 701 27 said 7P 125X he meant that since he was
an 0°100X he could not bear the continued crowing of the ravens?’

3 See wn noma.
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